largeting Needle | |G X |5 cm, Split Diamond
and Bevel Tip

ce Bl

TMADE IN

0423 1ALy




TVN

pris

New T-Shape Version

HO01.076 TVN Rev. 00 del [5/12/2015

Disposable Targeting Needle, | |G X |5 cm composed by a rounded
cannula and two stylets, with Split Diamond and Bevel Tip. The ergonomic
handle has been designed to guarantee to ensure a safe grip and an
optimal use of the hummer.

Available Codes Description Measures Q.ty per box
1 Canula
TVN 11/15 1 Bevel Tip Mandrel 11GX15¢cm 1
1 Split Diamond Mandrel
Represented by
NeuroKos SRL o

mun. Chisinau, Republic of Moldova

tel. +373 7886 7886

e-mail: neurokos@yandex.ru

www. neurokos.md




OSI| POSTERIOR SPINE SYSTEM
(5.5mm Rod System)
Catalog Number:0PSS01

OSI MULTIAXIAL TRANSVERSE LINK
ht

(40-50 MM) ON2120-0038

(60-70 MM) ON0120-0042

OSI LATERAL CONNECTOR

Lenght Reference Code

25 0S0191-5525

40 050191-5540

OS| DOMINO CONNECTOR

Dimensions Reference Code

* Optional Production (Delivery Time: 12 Weeks) Page 7/8
**Visuals may vary



X EXPANDABLE VERTEBRAL BODY REPLACEMENT
Catalog Number:XXP01

X EXPANDABLE VERTEBRAL BODY REPLACEMENT

Diameter Lenght Ref. Code
13-17MM - 8° XP12H1317D8
17-25MM — 8° XP12H1725D8

12
25-40MM — 8° XP12H2540D8
40-70MM - 8° XP12H4070D8
13-17MM — 8° X14H1317D8
17-25MM — 8° X14H1725D8
14
25-40MM - 8° X14H2540D8
40-70MM - 8° X14H4070D8
13-17MM - 8° X16H1317D8
16 17-25MM - 8° X16H1725D8
25-40MM - 8° X16H2540D8
40-70MM - 8° X16H4070D8
13-17MM - 8° X18H1317D8
18 17-25MM — 8° X18H1725D8
25-40MM - 8°
40-70MM —§

* Optional Production (Delivery Time: 12 Weeks)
**Visuals may vary




BIA CERVICAL CAGE

Catalog Number:BCCO1
BIA CERVICAL PEEK CAGE
Depth x Width Height Reference Code
H4 BOSCC412
H5 BOSCC512
12x 14 H6 BOSCC612
H7 BOSCC712
H8 BOSCC812
H4 BOSCC413
H5 BOSCC513
13 x15 H6 BOSCC613
H7 BOSCC713
H8 BOSCC813
H4 BOSCC414
H5 BOSCC514
14 x 16 H6 BOSCC614
H7 BOSCC714
H8 BOSCC814
* Optional Production (Delivery Time: 12 Weeks) Page1/1

**Visuals may vary



TLIF & PLIF CAGE
Catalog Number:TPTFCO1

ZELOS PEEK PLIF CAGE (24 x 9 mm)

Degree Height ~ Reference Code
H7 ZE240907
H8 ZE240908
H9 ZE240909
H10 ZE240910
H11 ZE240911
: H12 ZE240912
H13 ZE240913
H14 ZE240914
H15 ZE240915
H16 ZE240916
H7 ZE240907
H8 ZE240908
H9 ZE240909
H10 ZE240910
H11 ZE240911
% H12 ZE240912
H13 ZE240913
. H14 7E240914
et H15 ZE240915
o H16 ZE240916

height
yukseklik

* Optional Production (Delivery Time: 12 Weeks)
**Visuals may vary



SENTINUS MESH CAGE
Catalog Number:SCMC01

SENTINUS CORPECTOMY MESH CAGE

Diameter Height Reference Code
60mm SENTC1060
10mm 80mm SENTC1080
100mm SENTC10100
60mm SENTC1260
12mm 80mm SENTC1280
100mm SENTC12100
60mm SENTC1460
14mm 80mm SENTC1480
100mm SENTC14100
60mm SENTL1660

16mm 80mm

100mm

* Optional
**Visuals may vary



SENTINUS MESH CAGE
Catalog Number:SCMC01

60mm SENTL1860

18mm 80mm SENTL1880
100mm SENTL18100

60mm SENTL2060

20mm 80mm SENTL2080
100mm SENTL20100

* Optional
**Visuals may vary



PORTHOS POSTERIOR CERVICAL SPINE SYSTEM
Catalog Number:PPCSS01

PORTHOS POSTERIOR CERVICAL ROD (PRE-BEND)
Diameter (mm) Lenght (mm) Refe Cod
3-4-3 . n ”

PORTHOS DOUBLE DIAMETER ROD (HYBRID)
Diameter (mm) Lenght (mm) Reference Code
T S e
3-55
3-6

PORTHOS TRANSVERSE CONNECTOR

Size Reference Code

Medium PTC-M

PORTHOS DOMINO CONNECTOR

Domino Connector M/L

* Optional Production (Delivery Time: 12 Weeks)
**Visuals may vary



8680571355116 OSI MONOAXIAL SCREW 8,5X20 0S0155-8520 61325 Ti6AlaV Alloy 1S0 5832-3 NON-STERILE
8680571355123 OSIMONQAXIAL SCREW #8,5%25 050155-8525 61325 TIGAIY Alloy 1S0 5832-3 NON-STERILE
8680571355130 OSt MONOAXIAL SCREW #8,5X30 0501558530 61325 TiBAIV Alloy 150 5832-3 NON-STERILE
8680571355147 0S| MONOAXIAL SCREW @8,5X35 050155-8535 61325 TiBAI4V Alloy 150 5832-3 NON-STERILE
8680571355154 OSI MONOAXIAL SCREW @8,5%40 050155-8540 61325 TiBAl4V Alioy 150 5832-3 NON-STERILE
8680571355161 OSI MONGAXIAL SCREW $8,5%45 0s0155-8545 61325 Ti6AI4V Alioy iSO 5832-3 NON-STERILE
8680571355178 0S| MONOAXIAL SCREW $8.5%50 050155-8550 61325 TI6AI4V Alloy IS0 5832-3 NON-STERILE
8680571355185 0S| MONOAXIAL SCREW ?8,5%55 050155-8555 61325 TicAlaV Alioy 150 5832-3 NON-STERILE
8680571355192 OSI MONOAXIAL SCREW #8,5%X60 050155-8560 61325 TIBAIV Alloy 150 5832-3 NON-STERILE
MONOAXIAL REDUCTION SCREW
8680571355208 OSI MONOAXIAL REDUCTION SCREW B4,5X20 05101614520 61325 Ti6AIAV Alloy IS0 5832-3 NON-STERILE
8680571355215 OSI MONOAXIAL REDUCTION SCREW 94,55 08i0161-4525 61325 TIGAIAV Alloy 150 5832-3 NON-STERILE
8680571355222 0SI MONOAXIAL REDUCTION SCREW B4,5%30 08i0161-4530 61325 TibAI4V Alloy 150 5832-3 NON-STERILE
8680571355239 OSI MONOAXIAL REDUCTION SCREW $4,5%35 05101614535 61325 Ti6AI4V Alioy 150 5832-3 NON-STERILE
8680571355246 0S| MONOAXIAL REDUCTION SCREW @4,5%40 05i0161-4540 61325 TIGAIAV Alloy 150 5832-3 NON-STERILE
8680571355253 OSI MONOAXIAL REDUCTION SCREW P4,5%45 05i0161-4545 61325 TiGAI4V Alloy 150 5832-3 NON-STERILE
8680571355260 OSI MONOAXIAL REDUCTION SCREW B4,5%50 0Si0161-4550 61325 Ti6AlaV Alloy 130 5832-3 NON-STERILE
: 5 8680571355277 0S| MONOAXIAL REDUCTION SCREW B4,5X55 0si0161-4555 61325 Ti6AIAY Alloy 150 5832-3 NON-STERILE
# 8680571355284 051 MONOAXIAL REDUCTION SCREW $4,5X60 05i0161-4560 61325 Ti6AIAV Alloy 150 5832-3 NON-STERILE
8680571355291 OSI MONOAXIAL REDUCTION SCREW #5,5%20 05i0161-5520 61325 TiGAIAV Alloy 150 5832-3 NON-STERILE
8680571355307 OSI MONOAXIAL REDUCTION SCREW ©5,5X25 0Si0161-5525 61325 TiBAIAV Alloy 150 5832-3 NON-STERILE
8680571355314 0S| MONOAXIAL REDUCTION SCREW 25,5%30 08i0161-5530 61325 TIGAIAV Alloy 150 5832-3 NON-STERILE
8680571355321 051 MONOAXIAL REDUCTION SCREW @5,5X35 0Si0161-5535 61325 Ti6AIAV Alloy 150 5832-3 NON-STERILE
8680571355338 0StMONOAXIAL REDUCTION SCREW $5,5%40 0Si0161-5540 61325 TibAI4V Alloy 180 5832-3 NON-STERILE
8680571355345 0S| MONOAXIAL REDUCTION SCREW ©5,5%45 0Si0161-5545 61325 Ti6AIAV Alloy 150 5832-3 NON-STERILE
8680571355352 OsI MONOAXIAL REDUCTION SCREW @5,5%50 08i0161-5550 61325 Ti6AIAV Alloy 150 5832-3 NON-STERILE
8680571355369 0S| MONOAXIAL REDUCTION SCREW #5,5X55 0S8i0161-5555 61325 TIGAIAV Alloy 1505832-3 NON-STERILE
8680571355376 0S! MONOAXIAL REDUCTION SCREW 35,5%60 08i0161-5560 61325 TiBAIAV Alloy IS0 5832-3 NON-STERILE
8680571355383 OS! MONOAXIAL REDUCTION SCREW P6,5X20 0S8i0161-6520 61325 Ti6AI4V Alloy 150 5832-3 NON-STERILE
8680571355390 OSt MONOAXIAL REDUCTION SCREW $6,5%25 05101616525 61325 TiBAIAV Alloy 150 5832-3 NON-STERILE
8680571355406 0S! MONOAXIAL REDUCTION SCREW #6,5X30 0Si0161-6530 61325 Ti6AI4V Alloy 150 58323 NON-STERILE
8680571355413 OS! MONOAXIAL REDUCTION SCREW $6,5%35 0Si0161-6535 61325 TI6AIV Alioy 150 5832-3
i 8680571355420 OS! MONOAXIAL REDUCTION SCREW 26,5%40 05i0161-6540 61325 TIGAI4Y Alioy 1S0 5832-3 NON-STERILE
¥
‘% 8680571355437 051 MONOAXIAL REDUCTION SCREW #6,5%45 05i0161-6545 61325 TieAlV Alloy 150 5832-3 NON-STERILE
"v{ ’
%: 8680571355444 0S| MONOAXIAL REDUCTION SCREW 96,5X50 0Si0161-6550 61325 TI6AI4Y Alloy IS0 5832-3 NON-STERILE
2
}E 8680571355451 OSI MONOAXIAL REDUCTION SCREW P6,5%55 05i0161-6555 61325 Ti6AI4V Alioy 150 5832-3 NON-STERILE
5
% 8680571355468 0S| MONOAXIAL REDUCTION SCREW #6,5%60 0Si0161-6560 61325 TIGAIAV Alloy i50 5832-3 NON-STERILE




ARTHOS TITANIUM PLASMA COATED SCREW
Catalog Number ARTO1
(MONOAXIAL REDUCTABIL)

ARTHOS TITANIUM PLASMA COATED SCREW

5.5

6.5

50 ARTPG550

7.5




		2021-01-24T21:51:43+0200




